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Estimating weights (metric)

Grade 5 Measurement Worksheet

Estimate the weight for each object below.
Circle your answer.

1. a pig 1,360 kg 136 g
136 mg 1,360 g
2. a tractor 23,000 mg 2,300 g
2,300 kg 23,000 g
3. a shovel 15 kg 1.5 kg
15 mg 1.5¢g
4.acow 600 g 600 kg
60,000 mg 6,000 g
5. a tomato 659 65 kg
650 mg 650 g
6. a dozen eggs 680 g
68 kg
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Answers
1. a pig 1,360 kg 136 g
136 mg (1,360 g)
2. a tractor 23,000 mg 2,300 g
(2,300 kg ) 23,000 g
3. a shovel 15 kg 1.5 kg
15 mg 159
4.acow 600 g (600kg)
60,000 mg 6,000 g
5. a tomato C65g ) 65 kg
650 mg 650 g
6. a dozen eggs (6809 )
68 kg
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